MRIBEERITRER

HHM3E9A
LASNER BAFETORE RIFERE
X HIEH
HHUE) | 2B | HEWH | £E@A) | #HW | £EWM)
1 & 1 3,000 1 5,000 2 8,000
2 B E 9 16,608 55 92,480 64 109,088
T A 2 10,000 10 50,000 12 60,000
HiEF 0 0 0 0 0 0
WHERE 7 6,608 45 42,480 52 49,088
3 R & 0 0 0 0 0 0
4 = B 0 0 1 5,000 1 5,000
5 B & 0 0 9 50,770 9 50,770
6 HBEI(RE 0 0 1 5,000 1 5,000
1 Ot 3 23,100 13 49,548 16 72,648
B’ M 0 0 0 0 0 0
BEH 0 0 7 4,228 7 4,228
2 % 3 23,100 6 45,320 9 68,420
ZDith 0 0 0 0 0 0
A F 13 42,708 80 207,798 93 250,506




THBFIOAXRMRE GEER)

No. |%xHi35E| AR ] BN &5 (M) [BENE
1| i | 9248 | AEMREERRANOFFERESICHIERE 3,000 3,000
2 9A18 |MEIFEWRARIEHR (BRI EARNFT)EEICHITE 944
3 9A3A |MEMFESHEER(FRIBEMBYFT) HECHSTE 944
4 98158 |RTBZEEEAR—HROHAEITHESTH 5,000
5 9A158 |TRIBHREREZRDAEITHSTHR 5,000
6 | BE | 917 |[MBMFE=ZHBEE (ERIEMBIF) HERICHESIBE 944
7 98288 |TEUHEHARME BMSTEARDY . TRIEELDS. TRIGELARIS) HECHESBE 944
8 9A298 |HBFEEARENR (FR26FEBATF) HEITHEIFE 944
9 9A298 MBI FHEEARBRZR (ER20EBABNT)EECHITE 944
10 9A30H |MEINFHEILOEHER CERSEBANF)HAEICHSIBE 944| 16,608
11 9R168 |[HRARK 9,900
12 | Z0ft| 9A308 [HRABRIK 6,600
13 98308 |BIfRARK 6,600 23,100

=E 42,708| 42,708




